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Part A: Grammar

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

1- When | move out of this house at the end of the month, I ... here for 20 years.

1) shall have been living 2) shall live

3) have been living 4) have lived
2- When she was a little child, she ... only to her mother.

1) would speak 2) was speaking 3) has spoken 4) had been speaking
3- A widow is a woman ... husband has died and ... has not re-married.

1) who/who 2) whose/whose 3) who/whose 4) whose/who
4- As my sister and I are real friends, wherever she goes, she takes me with ... .

1) herself 2) hers 3) her 4) she
5- At the time the factory closed down, Sarah ... there for five years.

1) has been working 2) was working 3) had been working 4) has worked
6- 1 have lived in New York and Chicago, but I don’t like ... city very much.

1) neither 2) another 3) each 4) either
7- We ... three hundred tickets and there is still a month to go before the concert.

1) are always selling 2) will have sold 3) have already sold 4) had just sold
8- Silver is too soft to use by ..., so it is mixed with ... metal to make it harder.

1) it/ the other 2) itself / another 3) it / another 4) itself / the other
9- There were hundreds of protesters, not ... of whom were women.

1) afew 2) a little 3) few 4) neither

10- Leif Ericson ... Vinland while he ... towards the west.
1) discovered/ sailed 2) discovered/ was sailing
3) has discovered/ was sailing 4) was discovering/ sailed

Part B: Vocabulary

Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

\

11- We ... from the messy room that a large group of people had been there.

1) detected 2) developed 3) devoted 4) declined
12- The policeman held my hands ... behind my back. It was very painful.
1) voluntarily 2) tightly 3) artificially 4) gradually
13- The runway is too short to take large modern planes. The officials are going to ... it.
1) attribute 2) perform 3) lengthen 4) combine
14- The plan has succeeded beyond our ... . All of us are so happy.

1) expectations 2) locations 3) competitions 4) instructions
15- He expressed his congratulations on the ... of Mary’s wedding anniversary.

1) instance 2) situation 3) condition 4) occasion

16- These reports clearly ... the degree of danger involved in doing this experiment if it is not done with protective
clothing.

1) demand 2) distribute 3) demonstrate 4) disturb
17- The research suggests that we only use a small ... of our brains.
1) motion 2) peak 3) portion 4) state
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18- His reaction to what happened last month was rather peculiar. The underlined word means ... .
1) encouraging 2) disappointing 3) strange 4) normal
19- He’s obviously quite embarrassed about it because he ... me to tell anyone.
1) compared 2) requested 3) forbade 4) evaluated
20- If you stick by something, you do it without changing your mind even when you are ... .
1) connected 2) created 3) confronted 4) criticized
21- You have made a great ... in your handwriting since you took that calligraphy course.
1) improvement 2) involvement 3) statement 4) attachment
22- All commerce between the two nations was actually ... during the period in which they were at war.
1) suspended 2) pasted 3) derived 4) deserved
23- In the darkness, the soldier couldn’t see whether the approaching ... was an enemy or not.
1) figure 2) density 3) dream 4) field
24- We are not sure that he will be able to ... the shock of going bankrupt.
1) get over 2) put through 3) rely on 4) take part in
25- A/An ... is a person who is forced to leave his or her country because of danger.
1) traveler 2) apprentice 3) stranger 4) refugee

Part C: Word Order
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer

sheet.

26-
1) He gave a ticket because he drove past a stop sign.
2) He gave a ticket because he was driven past a stop sign.
3) He was given a ticket because he stopped to drive past sign.
4) He was given a ticket because he drove past a stop sign.
27-
1) They still haven’t decided where to go for the vacation.
2) They haven’t still decided where going for the vacation.
3) They still haven’t decided where they go for the vacation.
4) They haven’t still decided where go for the vacation.
28-
1) Not wishing to continue his studies, he decided to find a job.
2) He decided to find a job, no wishing to continue his studies.
3) Not wished to continue his studies, he decided to find a job.
4) He decided to find a job, no wished to continue his studies.
29-
1) Even though I asked him stop, James went on singing for two hours.
2) Although I asked him stop, James went on to sing for two hours.
3) Even though I asked him to stop, James went on singing for two hours.
4) Although I asked him to stop, James went on to sing for two hours.
30-
1) I walk to work every day it saves me a lot of money.
2) Walking to work every day it saves me a lot of money.
3) 1 walk to work every day saves me a lot of money.
4) Walking to work every day saves me a lot of money.
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Part D: Language Function
Directions: Read the following conversations and fill up the blanks by choosing one of the choices (1,2,3) or (4). Then mark the
correct choice on your answer sheet.
Man: I can’t believe I paid fifty dollars for this television; it was so expensive!
Woman: Only fifty dollars? That’s not very much. Mine ...(31)... .
31-1) is very cheap 2) costs a fortune 3) is the same 4) makes no difference
A: Would you like to increase the extent of your educational and historical background?
B: I don’t think I got your point ...(32)... .
A: 1 just took my final exam in history this morning, and I’m trying to ...(33)... the books. You
can have them for eighty dollars.
B: I don’t think I’ll need them, but why don’t you try to ...(34)... to the bookstore instead?
32-1) all over 2)allinall 3) and all 4) at all
33-1) get out of 2) get rid of 3) run out of 4) bump into
34-1) give them up 2) throw them away 3) take them in 4) take them back
A: You’ve got to ...(35)... to your father about damaging his car. He’ll understand it wasn’t your
fault. Your father is very rational. I’m sure he’ll let you ...(36)... .
B: Are you kidding? He’s going to ...(37)... . Do you know how much money he had to ...(38)... for this car?
A: Well, you are going to have to ...(39)... eventually; you can’t hide this from him forever.
B: You’re right! I should tell him all about it right now. I’m going inside to ...(40)... him.
35- 1) beat around the bush 2) lend a hand
3) bury the hatchet 4) break the news
36- 1) off the hook 2) on the back burner 3) on full alert 4) up in the air
37-1) fire off 2) flip out 3) reach down 4) pay back
38-1) rule out 2) fork out 3) let down 4) dig in
39-1) cover all the bases 2) fit the bill
3) face the music 4) put on airs
40-1) come clean with 2) see eye to eye with
3) put the blame on 4) sit in judgment on
\ /
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Communication is the act of conveying meanings from one entity or group to another through the use of
mutually understood signs and semiotic rules. All of us ...(41)... with one another nonverbally, as well as with
words. Most of the time we’re not ...(42)... that we’re doing it. We gesture with eyebrows or a hand, meet
someone else’s eyes and look away or maybe ...(43)... positions in a chair. These ...(44)... we assume are
random and incidental. But researchers have ...(45)... in recent years that there is a system to them almost as
consistent and comprehensible as language.

Recent studies by psychologists ...(46)... that posture often reflects a person’s ...(47)... toward people he is
with. One experiment indicates that ...(48)... men are with other men they dislike, they relax either very little or
very much-depending ...(49)... whether they see the other men as threatening. Women in this experiment
always signaled dislike with very relaxed posture. And men, paired with women they disliked, were never
...(50)... about it to sit up rigidly.

While children learn spoken and body language -...(51)... postures, eye behavior, etc.- they also learn a
subtler thing: how to ...(52)... to space around them. Man walks around inside a kind of private bubble
...(53)... the amount of air space he feels he must have between himself and other people. Anthropologists,
working with cameras, have recorded the tremors and ...(54)... eye movements that betray the moment the
individual’s bubble is breached. As adults, ...(55)..., we hide

our feelings behind a screen of polite words.

41-1) interpret 2) stimulate 3) communicate 4) restrict
42-1) aware 2) real 3) basic 4) various
43-1) shift 2) outline 3) remove 4) place

44-1) documents 2) actions 3) extremes 4) destinations
45-1) disgusted 2) disappeared 3) divided 4) discovered
46- 1) join 2) prefer 3) suggest 4) influence
47-1) constituent 2) altitude 3) magnitude 4) attitude
48-1) when 2) although 3) since 4) whereas
49-1) over 2)to 3)on 4) against

50- 1) enough tensely ~ 2) enough tense 3) tensely enough 4) tense enough
51-1) uncertain 2) addictive 3) proper 4) equivalent
52-1) react 2) repeat 3) recall 4) reject

53-1) which represent  2) which represented 3) represented 4) representing
54-1) global 2) readable 3) minute 4) aerobic
55-1) because 2) even though 3) however 4) despite /
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best

choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

The producers of instant coffee found their product strongly resisted in the market places despite their
product’s manifest advantages. Furthermore, the advertising expenditure for instant coffee was far greater than
that for regular coffee. Efforts were made to find the cause of the consumers’ seemingly unreasonable resistance
to the product. The reason given by most people was dislike for the taste. The producers suspected that there
might be deeper reasons, however.

This was confirmed by one of the motivation research’s classic studies, one often cited in the trade. Mason
Haire, of the University of California, constructed two shopping lists that were identical except for one item.
There were six items common to both lists: hamburger, carrots, bread, baking powder, canned peaches, and
potatoes, with the brands of amounts specified. The seventh item, in fifth place on both lists, read “1b. Maxwell
House coffee” on one list and “Nescafe instant coffee” on the other. One list was given to each one in a group of
fifty women, and the other list to those in another group of the same size. The women were asked to study their
lists and then to describe, as far as they could, the kind of woman (“personality and character”) who would
draw up that shopping list. Nearly half of those who had received the list including instant coffee described a
housewife who was lazy and a poor planner. On the other hand, only one woman in the other group described
the housewife, who had included regular coffee on her list, as lazy; only six of that group suggested that she was
a poor planner. Eight women felt that the instant-coffee user was probably not a good wife. No one in the other
group drew such a conclusion about the housewife who intended to buy regular coffee.

56- Most people said that they didn’t like instant coffee because ... .

1) they didn’t like its taste 2) it came in a bottle

3) of deeper reasons 4) they were suspicious of a new product
57- In this instance, the purpose of motivation research was to discover ... .

1) why people drink coffee

2) why instant coffee did not taste good

3) why producers would not advertise instant coffee

4) the real reason why people would not buy instant coffee
58- The word “strongly” in line 1 is closest in meaning to ... .

1) formerly 2) financially 3) fortunately 4) firmly
59- After studying the lists, the women were asked to give their opinion about the ... .

1) significance of each item

2) total price of the items

3) personality of a woman who would prepare such a list

4) sex of the person making up the list
60- The pronoun “they” in line “12” refersto ... .

1) the brands 2) the lists 3) the producers 4) the women

\
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PASSAGE 2

All people have headaches at some time during their lives. Some headaches are very weak and some are very
strong. Some people with strong headaches go immediately to the doctor. In the past, doctors gave these people
aspirin and told them to go home. Now doctors think they made a mistake. A headache is not a disease, but the
result of a disease. Now they want to find the disease that causes headaches. Toothaches and hunger can cause
headaches. A dentist and food can cure these headaches. A continuous strong headache, however, might be
caused by a bad disease, such as a brain tumour-an extra growth inside the brain. Nervous headaches are usual
in today’s life. A person who must drive in crowded streets might get a headache. A doctor has found that hard-
working people have the most headaches. These people work very hard to get what they want. The best cure for
a nervous headache is sleep. Another kind of headache is caused by sadness. The person gets headaches because
he has a problem that he cannot solve. He needs help from a psychiatrist to stop his headaches. People have tried

many ways to cure headaches. Long ago some people opened the head to let out devils that they thought made

the head hurt. Today, modern medicine uses drugs to make the blood vessels smaller. Any medicine or drink
that makes the blood vessels larger only makes the headache worse.
61- Headaches are ... .
1) always strong 2) curable diseases
3) usual in today’s life 4) caused just in crowded streets
62- The best cure for a nervous headache is to ... .
1) take an aspirin 2) let out devils 3) have a sleep 4) enlarge vessels
63- According to the passage, headaches cannot be caused by ... .
1) medicine 2) toothache 3) hunger 4) sadness
64- According to the passage, which sentence is NOT correct?
1) Overcrowded streets might lead to nervous headaches.
2) If people have severe headaches, some of them prefer to go to the doctor right away.
3) One of the reasons of headaches is sadness.
4) Drugs making the vessels larger cure the headaches.
65- The word “let out” in line 11 is the closest in meaning to ... .
1) raise 2) release 3) repeat 4) rely
PASSAGE 3
The first people to inhabit what today is the southeastern United States lived as hunters. Sometimes early in
the first millennium A.D., however, they began to cultivate corn and other crops. Gradually, as they became
more skilled at gardening, they settled into permanent villages and developed a rich culture, characterized by
the great monuments they built for their gods and tombs for their distinguished dead. Most of these early
builders were part of the Adena-Hopewell culture, which had its beginnings near the Ohio River and takes its
name from sites in Ohio. The culture spread southward into the present-day states of Louisiana, Alabama,

Georgia, and Florida. Its people became great traders, exchanging jewellery, pottery, animal pelts, tools, and

N
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other goods along extensive trading networks that stretched up and down eastern North America and as far

N

west as the Rocky Mountains.

About 400 A.D. the Hopewell culture fell into decay. Over the next centuries, it was replaced by another
culture, the Mississippian, named after the river along which many of its earliest villages were located. This
complex civilization dominated the southeast from about 700 A.D. until shortly before the Europeans began
arriving in the sixteenth century. At the peak of its strength, about the year 1200, it was the most advanced
culture in North America. Like their Hopewell ancestors, the Mississippians became highly skilled at growing
food, although on a larger scale. They developed an improved type of corn which could survive in wet soil and a
relatively cool climate, and also learned to cultivate beans. Indeed, agriculture became so important to the
Mississippians that it became closely associated with the Sun-the guarantor of good crops. Many tribes called

themselves “children of the Sun” and believed their holy people were children of the great Sun god.

Although most Mississippians lived in small villages, many others inhabited large towns. Most of these towns
had at least one major flat-topped mound on which stood a temple that contained a sacred flame. Only priests
and those charged with guarding the flame could enter the temples. The mounds also served as ceremonial and
trading sites, and at times they were used as burial grounds.

66- What does the passage mainly discuss?

1) The development of agriculture

2) The locations of towns and villages

3) The early people and cultures of the United States

4) The construction of burial mounds
67- Which of the following resulted from the rise of agriculture in the southeastern United States?

1) The development of trade in North America

2) The establishment of permanent settlements

3) Conflicts with other Native American groups over land

4) A migration of these peoples to the Rocky Mountains
68- According to the passage, when did the Mississippian culture reach its highest point of development?

1) About 400 A.D. 2) Between 400 A.D. and 700 A.D.

3) About 1200 A.D. 4) In the sixteenth century
69- Why does the author mention that many Mississippian tribes called themselves “children of the Sun” (line

18)?

1) To explain why they were obedient to their holy people

2) To argue about the importance of religion in their culture

3) To illustrate the great importance they placed on agriculture

4) To provide an example of their religious rituals
70- The phrase “charged with” in line 21 is closest in meaning to ... .

1) passed on 2) experienced at 3) familiar with 4) assigned to
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